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Time: 10 Minutes | Paper Math 8 (T-1) Total Marks: 10

| 1st Month, 2nd Week, 5th Day |Sub-domain II. Exercise 1.3. Q#7,8

Q.1. Choose the correct options. (0.5x 6=3) -J /';«l‘f:'llf.,«lﬁc/u
(i) The total length of Pak-China border is 596000m. Round the
number (2s.f.) significant figures.
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Time: 10 Minutes | Paper Math 8 (T-1) Total Marks: 10
| 15t Month, 2nd Week, 5th Day |Sub-domain I1. Exercise 1.3. Q#7,8

Q.1. Choose the correct options. (0.5x 6=3) -/ /..,«@:’l(b.«l}?u/:
(i) The total length of Pak-China border is 596000m. Round the
number (2s.f.) significant figures.
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(@) 590000 [(b)] 587000 |(c)| 595000 |(d)| 3596300

(ii) The diameter of Mars is 6779km round the number 1
significant figures.

U st Euwia ol e B b 4¥ 6779

(@) 590000 |(b)] 587000 |(e¢)| 3595000 ((d)[ 596300

(ii) The diameter of Mars is 6779km round the number 1
significant figures.

st Euwia ol e B 4K 6779

(a) 6700 (b) 6000 () 6870 (d) 7000

(iii) The distance of moon from earth is 383500km. Round the
number 2 significant figures.

st B i A1 G2 f e o 383500 bbbl

(a) 6700 (b) 6000 (©) 6870 (d) 7000

(a)[ 380000 [(b)] 384000 |(c)| 383000 |(d)| 390000

(iii) The distance of moon from earth is 383500km. Round the
number 2 significant figures.

U s Burin A1 G2 f e K 383500 b bKil e

(a)| 380000 |(b)] 384000 |(c¢)| 383000 ((d){ 390000

(iv) The current population of Pakistan is 232271158. Round the
number 5 significant figures.

it By 2005 e 2322711586 T St
(a)| 232280000 |(b)| 232370000 |(c)| 232270000 |(d)| 232100200
Q.2.The diameter of earth is 12742km. Round the number to 3

N’

and 4 significant figures. (1x2=2)
it Brin a3 2 12742 B 5
Q.3.The total area of Pakistan is 796096 sq.km. Round the
number 4 significant figures. (1x2=2)
Uit E i omd_e oK 7196096 5Kt
Q.4.The total length of great wall of China is 31296.17 km. Round
the number of 5 significant figure. (1x2=2)

Uit B i o-a o 31296178/ S

(iv) The current population of Pakistan is 232271158. Round the
number 5 significant figures.

st B Urin 205 e 2322711586 T St |

(a)| 232280000 [(b)| 232370000 |(c)| 232270000 |(d)| 232100200

Q.2.The diameter of earth is 12742km. Round the number to 3
and 4 significant figures. (1x2=2)
Uit Burin i3 oK 12742 B S
Q.3.The total area of Pakistan is 796096 sq.km. Round the
number 4 significant figures. (1x2=2)
U s Euri g ET 27196096 1 SEET
Q.4.The total length of great wall of China is 31296.17 km. Round
the number of 5 significant figure. (1x2=2)

U st By od-g ¥ 31296178/ IS



